PROJECT: 18834 - ASPEN GROUP - SOMMET BLANC - TOWER C - UNIT C201- TYPE M

12 PENNY LANE | GALLATIN GATEWAY, MT | 59730

DIVISION: DOOR HARDWARE DATE: 10/28/2022

CLIENT

Aspen Group

PROJECT ADDRESS

9300 Marsac Ave Park City, UT 84060

EARTH ELEMENTS DESIGN CENTER

PREPARED BY

Hunter Silvester hunter.s@earthelements.com

ROOM: 202 - LIVING ROOM

SPACE: 202 - LIVING ROOM CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|--|-------------------|--|-----|--------|----------|----------|
| Door Hardware - Pulls - Edge - Earth | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 4 | × EACH | \$93.60 | \$374.40 |
| Door Hardware - Pulls - Appliance - Earth | Sun Valley Bronze | Contemporary Grip Handle 24" L (GH-991-24) Notes: Finish: S3 | 2 | | \$489.60 | \$979.20 |

ROOM: 203 - HALLWAY (CORRIDOR)

SPACE: 203A - HALLWAY (CABINET HARDWARE)

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|---|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 Remarks: *ASSUMED COUNTS AS NO ELEVATION PROVIDED* | 2 | × EACH | \$93.60 | \$187.20 |

ROOM: 204 - STORAGE (DEN)

SPACE: 204 - DEN CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|---|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 Remarks: *ASSUMED COUNTS AS NO ELEVATION PROVIDED* | 10 | × EACH | \$93.60 | \$936.00 |

ROOM: 205 - LAUNDRY

SPACE: 205 - LAUNDRY CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---|-------------------|--|-----|--------|---------|------------|
| Door Hardware - Pulls - Edge - Earth | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 11 | × EACH | \$93.60 | \$1,029.60 |

ROOM: 208 - MASTER BATHROOM (1)

SPACE: 208 - MASTER BATHROOM CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL | |
|---|-------------------|--|-----|--------|---------|------------|---|
| Door Hardware - Pulls - Edge - Earth | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: | 13 | × EACH | \$93.60 | \$1,216.80 | l |



PCDOOR-49381

(VER 04)

Finish: S3

ROOM: 211 - GUEST BATHROOM (3)

SPACE: 211 - GUEST BATHROOM (3) CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---|-------------------|--|-----|--------|---------|------------|
| Door Hardware - Pulls - Edge - Earth | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 13 | × EACH | \$93.60 | \$1,216.80 |

ROOM: 218 - GUEST BATHROOM (4)

SPACE: 218 - GUEST BATHROOM 4 CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|---|-----|--------|---------|------------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 Remarks: *ASSUMED COUNTS AS NO ELEVATION PROVIDED* | 13 | × EACH | \$93.60 | \$1,216.80 |

ROOM: 219 - GUEST BATHROOM (5)

SPACE: 219 - GUEST BATHROOM 5 CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|---|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 Remarks: *ASSUMED COUNTS AS NO ELEVATION PROVIDED* | 8 | × EACH | \$93.60 | \$748.80 |

ROOM: 221 - GUEST BEDROOM (2)

SPACE: 221 - GUEST BEDROOM (2) CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|---|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 Remarks: *ASSUMED COUNTS AS NO ELEVATION PROVIDED* | 10 | × EACH | \$93.60 | \$936.00 |

ROOM: 223 - GUEST BATHROOM (2)

SPACE: 223 - GUEST BATHROOM (2) CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---|-------------------|--|-----|--------|---------|------------|
| Door Hardware - Pulls - Edge - Earth | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 16 | × EACH | \$93.60 | \$1,497.60 |

ROOM: 225 - POWDER ROOM

SPACE: 225 - POWDER ROOM CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|-------------------------|-------------------|--|-----|--------|---------|----------|
| Door Hardware - Pulls - | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) | 8 | × EACH | \$93.60 | \$748.80 |



PCDOOR-49381

(VER 04)

Edge - Earth Notes: Finish: S3

ROOM: 226 - KITCHEN

SPACE: 226 - KITCHEN CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | | QTY | UoM | PRICE | TOTAL |
|---|-------------------|--|-------|-----|--------|----------|------------|
| Door Hardware - Pulls - Edge - Earth | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | | 38 | × EACH | \$93.60 | \$3,556.80 |
| Door Hardware - Pulls - Appliance - Earth | Sun Valley Bronze | Contemporary Grip Handle 24" L (GH-991-24) Notes: Finish: S3 | | 2 | | \$489.60 | \$979.20 |
| Door Hardware - Pulls - Appliance | Sun Valley Bronze | Contemporary Grip Handle 17 3/8"C-C (GH-991) Notes: Finish:S3, 24" will not fit on dishwasher. Changed to 18". | | 1 | | \$397.20 | \$397.20 |
| NOTES: | | | FINIS | HES | | \$16 | 6,021.20 |
| Estimate is based on plans dated 07/15/2022 and Earth Selections dated 3/29/22 | | LABOR | | | - | | |
| PAYMENT TERMS: | | | SHIPF | ING | | | \$750.00 |

The Deposit Invoice payment is REQUIRED before the goods are ORDERED. Full payment is REQUIRED before delivery.

| TOTAL AMOUNT |
|------------------|
| REQUIRED DEPOSIT |

SALES TAX

\$18,221.16 \$9.110.58

\$1,449.96

The prices quoted on your estimate or sales order have been calculated based on the current prices for the component materials. However, due to volatile markets and imposition of tariffs, taxes and assessments, sudden price increases may occur. Earth Elements agrees to use its best efforts to obtain the lowest possible prices from available suppliers, but should there be an increase in prices of these specified materials that are purchased after execution of this agreement for 18834 - Aspen Group - Sommet Blanc - Tower C - Unit C201- Type M, Aspen Group agree to pay the additional charge. Any claim by Earth Elements for payment of such an additional charge shall require written notice delivered to you stating the additional charge, the material or materials in question, and the source of supply, supported by invoices or bills of sale.

ESTIMATE IS VALID FOR 30 DAYS.

Should you have any discrepancies or changes please contact your sales associate. Once you have confirmed the estimate as approved, a sales order will be emailed requesting your signature for approval, and required deposit terms. Orders cannot be placed until approval signature and deposit have been received.

3 out of 3

PROJECT: 19462 - ASPEN GROUP - SOMMET BLANC - TOWER C - UNIT C301 - TYPE N

DIVISION: DOOR HARDWARE DATE: 10/28/2022

CLIENT Aspen Group

PROJECT ADDRESS

9300 Marsac Avenue Park City, UT 84060

PREPARED BY

Hunter Silvester hunter.s@earthelements.com

ROOM: N.02 - LIVING ROOM

SPACE: N.02 - LIVING ROOM CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|--|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 6 | × EACH | \$93.60 | \$561.60 |

ROOM: N.03 - HALLWAY (CORRIDOR)

SPACE: N.03 - HALLWAY (CORRIDOR) CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|--|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish - S3 Remarks: **ASSUMED COUNTS AS NO ELEVATION PROVIDED** | 2 | × EACH | \$93.60 | \$187.20 |

ROOM: N.04 - DEN

SPACE: N.04 - DEN CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|--|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish - S3 Remarks: **ASSUMED COUNTS AS NO ELEVATION PROVIDED** | 10 | × EACH | \$93.60 | \$936.00 |

ROOM: N.05 - LAUNDRY

SPACE: N.05 - LAUNDRY CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|--|-----|--------|---------|------------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 11 | × EACH | \$93.60 | \$1,029.60 |

ROOM: N.06 - POWDER ROOM

SPACE: N.06 - POWDER ROOM CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|--|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 8 | × EACH | \$93.60 | \$748.80 |



ROOM: N.08 - MASTER BATHROOM

SPACE: N.08 - MASTER BATHROOM CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|--|-----|--------|---------|------------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 13 | × EACH | \$93.60 | \$1,216.80 |

ROOM: N.11 - GUEST BATHROOM (4)

SPACE: N.11 - GUEST BATHROOM (4) CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|--|-----|--------|---------|------------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 13 | × EACH | \$93.60 | \$1,216.80 |

ROOM: N.18 - GUEST BATHROOM (3)

SPACE: N.18 - GUEST BATHROOM CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|--|-----|--------|---------|------------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish - S3 Remarks: **ASSUMED COUNTS AS NO ELEVATION PROVIDED** | 13 | × EACH | \$93.60 | \$1,216.80 |

ROOM: N.19 - GUEST BATHROOM (2)

SPACE: N.19 - GUEST BATHROOM (2) CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|---|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish - S3, Remarks: **ASSUMED COUNTS AS NO ELEVATION PROVIDED** | 8 | × EACH | \$93.60 | \$748.80 |

ROOM: N.21 - GUEST BEDROOM (1)

SPACE: N.21 - GUEST BEDROOM (1) CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|--|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish - S3 Remarks: **ASSUMED COUNTS AS NO ELEVATION PROVIDED** | 10 | × EACH | \$93.60 | \$936.00 |

ROOM: N.24 - GUEST BATHROOM (1)

SPACE: N.24 - GUEST BATHROOM (1) CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|--|-----|--------|---------|------------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 16 | × EACH | \$93.60 | \$1,497.60 |



ROOM: N.25 - KITCHEN

SPACE: N.25 - KITCHEN CABINETRY HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|--|-------------------|---|-----|--------|----------|------------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 46 | × EACH | \$93.60 | \$4,305.60 |
| Door Hardware - Pulls - Appliance | Sun Valley Bronze | Contemporary Grip Handle 24" L (GH-991-24) Notes: Finish: S3 | 5 | | \$489.60 | \$2,448.00 |
| Door Hardware - Pulls - Appliance - Dishwasher | Sun Valley Bronze | Contemporary Grip Handle 17 3/8"C-C (GH-991) Notes: Finish:S3, 24" will not fit on dishwasher. Changed to 18" | 1 | | \$397.20 | \$397.20 |

| | TOTAL AMOUNT REQUIRED DEPOSIT | \$19,850.78 \$9,925.39 |
|---|----------------------------------|----------------------------------|
| The Deposit Invoice payment is REQUIRED before the goods are ORDERED. Full payment is REQUIRED before delivery. | SALES TAX | \$1,578.98 |
| PAYMENT TERMS: | SHIPPING | \$825.00 |
| selections dated 09/16/2022 | LABOR | - |
| NOTES: Estimate based on Elevations dated 10/03/2022 and Earth Scheme | FINISHES | \$17,446.80 |

The prices quoted on your estimate or sales order have been calculated based on the current prices for the component materials. However, due to volatile markets and imposition of tariffs, taxes and assessments, sudden price increases may occur. Earth Elements agrees to use its best efforts to obtain the lowest possible prices from available suppliers, but should there be an increase in prices of these specified materials that are purchased after execution of this agreement for 19462 - Aspen Group - Sommet Blanc - Tower C - Unit C301 - Type N, Aspen Group agree to pay the additional charge. Any claim by Earth Elements for payment of such an additional charge shall require written notice delivered to you stating the additional charge, the material or materials in question, and the source of supply, supported by invoices or bills of sale.

ESTIMATE IS VALID FOR 30 DAYS.

Should you have any discrepancies or changes please contact your sales associate. Once you have confirmed the estimate as approved, a sales order will be emailed requesting your signature for approval, and required deposit terms. Orders cannot be placed until approval signature and deposit have been received.

12 PENNY LANE | GALLATIN GATEWAY, MT | 59730

DIVISION: DOOR HARDWARE DATE: 10/28/2022

CLIENT

Aspen Group

PROJECT ADDRESS

EARTH ELEMENTS DESIGN CENTER

9300 Marsac Avenue Park City, UT 84060 PREPARED BY

Hunter Silvester hunter.s@earthelements.com

ROOM: 803 - DEN

SPACE: 803 - DEN CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|---|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 Remarks: *ASSUMED COUNTS AS NO ELEVATION PROVIDED* | 10 | × EACH | \$93.60 | \$936.00 |

ROOM: 805 - LAUNDRY

SPACE: 805 - LAUNDRY CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|---|-----|--------|---------|------------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 Remarks: *ASSUMED COUNTS AS NO ELEVATION PROVIDED* | 11 | × EACH | \$93.60 | \$1,029.60 |

ROOM: 806 - HALLWAY (CORRIDOR)

SPACE: 806 - HALLWAY CABINET HARDWARE (CORRIDOR)

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|---|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 Remarks: *ASSUMED COUNTS AS NO ELEVATION PROVIDED* | 6 | × EACH | \$93.60 | \$561.60 |

ROOM: 808 - GUEST BATHROOM (5)

SPACE: 808 - GUEST BATHROOM (5) CABINET HARDWARE

| FINISH AREA | | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|-----------------------|-----------|-------------------|--|-----|--------|---------|------------|
| Door Hardware Edge | - Pulls - | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 16 | × EACH | \$93.60 | \$1,497.60 |

ROOM: 810 - GUEST BEDROOM (5)

SPACE: 810 - GUEST BEDROOM (5) CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|--|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 10 | × EACH | \$93.60 | \$936.00 |



12 PENNY LANE | GALLATIN GATEWAY, MT | 59730

PCDOOR-50890 (VER 02)

| Remarks: *NEEDED HARDWARE ASSUMED TO MATCH OTHER - NOT ON SPECS* 2 | | |
|---|--|--|
| | | |

ROOM: 814 - GUEST BATHROOM (4)

SPACE: 814 - GUEST BATHROOM (4) CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|---|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 Remarks: *ASSUMED COUNTS AS NO ELEVATION PROVIDED* | 8 | × EACH | \$93.60 | \$748.80 |

ROOM: 815 - GUEST BATHROOM (3)

SPACE: 815 - GUEST BATHROOM (3) CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|--|-----|--------|---------|------------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 16 | × EACH | \$93.60 | \$1,497.60 |

ROOM: 822 - GUEST BATHROOM (2)

SPACE: 822 - GUEST BATHROOM (2) CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|--|-----|--------|---------|------------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 13 | × EACH | \$93.60 | \$1,216.80 |

ROOM: 823 - MASTER BATHROOM (1)

SPACE: 823 - GUEST BATHROOM (1) CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|-------------------|---|-----|--------|---------|------------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 Remarks: ASSUMED COUNTS AS NO ELEVATION PROVIDED | 16 | × EACH | \$93.60 | \$1,497.60 |

ROOM: 832 - KITCHEN

SPACE: 832 - KITCHEN CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|--|-------------------|---|-----|--------|----------|------------|
| Door Hardware - Pulls - Edge | Sun Valley Bronze | Edge Mount Cabinet Pull 6"L (CK-502-6) Notes: Finish: S3 | 47 | × EACH | \$93.60 | \$4,399.20 |
| Door Hardware - Pulls - Appliance | Sun Valley Bronze | Contemporary Grip Handle 24" L (GH-991-24) Notes: Finish :S3 | 4 | | \$489.60 | \$1,958.40 |
| Door Hardware - Pulls - Appliance - Dishwasher | Sun Valley Bronze | Contemporary Grip Handle 17 3/8"C-C (GH-991) Notes: Finish :S3, 24" will not fit on dishwasher. Changed to 18". | 1 | | \$397.20 | \$397.20 |



PCDOOR-50890 (VER 02)

NOTES: **FINISHES** \$16,676.40 Estimate based on Elevations dated 10/03/2022 and Earth Scheme selections dated 09/16/2022 LABOR SHIPPING \$790.00 **PAYMENT TERMS:** The Deposit Invoice payment is REQUIRED before the goods are SALES TAX \$1,509.24 ORDERED. Full payment is REQUIRED before delivery. TOTAL AMOUNT \$18,975.64 REQUIRED DEPOSIT \$9,487.82

The prices quoted on your estimate or sales order have been calculated based on the current prices for the component materials. However, due to volatile markets and imposition of tariffs, taxes and assessments, sudden price increases may occur. Earth Elements agrees to use its best efforts to obtain the lowest possible prices from available suppliers, but should there be an increase in prices of these specified materials that are purchased after execution of this agreement for 19472 - Aspen Group - Sommet Blanc - Tower C - Unit C801 - Type O, Aspen Group agree to pay the additional charge. Any claim by Earth Elements for payment of such an additional charge shall require written notice delivered to you stating the additional charge, the material or materials in question, and the source of supply, supported by invoices or bills of sale.

ESTIMATE IS VALID FOR 30 DAYS.

Should you have any discrepancies or changes please contact your sales associate. Once you have confirmed the estimate as approved, a sales order will be emailed requesting your signature for approval, and required deposit terms. Orders cannot be placed until approval signature and deposit have been received.

PROJECT: 19457 - ASPEN GROUP - SOMMET BLANC - TOWER C - UNIT C22 - TYPE R (1-BED EHU)

DIVISION: DOOR HARDWARE DATE: 10/25/2022

CLIENT

PROJECT ADDRESS

Aspen Group

9300 Marsac Avenue Park City, UT 84060

PREPARED BY Hunter Silvester

hunter.s@earthelements.com

ROOM: R.10 - KITCHEN

SPACE: R.10 - KITCHEN CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | QTY | UoM | PRICE | TOTAL |
|---------------------------------|----------------|---|-----|--------|---------|----------|
| Door Hardware - Pulls - Edge | Emtek Products | Contemporary Cabinet Edge Pull 6" C-C, Flat Black (87120US19) | 16 | × EACH | \$10.78 | \$172.48 |
| | | | | | | |

ROOM: R.14 - GUEST BATHROOM

SPACE: R.14 - GUEST BATHROOM CABINET HARDWARE

| FINISH AREA | MANUFACTURER | ITEM | | QTY | UoM | PRICE | TOTAL | |
|--|----------------|--|-----------------------|------|--------|----------|----------|--|
| Door Hardware - Pulls - Edge | Emtek Products | Contemporary Cabinet Edge Pull 6" C-C, F | lat Black (87120US19) | 2 | × EACH | \$10.78 | \$21.56 | |
| NOTES: | | | FINIS | HES | | \$194.04 | | |
| Estimate based on Elevations dated 10/03/2022 and Earth Scheme selections dated 09/16/2022 | | LAE | LABOR | | | - | | |
| PAYMENT TERMS: | | | SHIPP | PING | | | \$15.00 | |
| | | is REQUIRED before the goods are SALES TAX | | | | \$17.56 | | |
| | | | TOTAL AMO | UNT | | \$ | 226.60 | |
| | | | REQUIRED DEPO | DSIT | | | \$113.30 | |

The prices quoted on your estimate or sales order have been calculated based on the current prices for the component materials. However, due to volatile markets and imposition of tariffs, taxes and assessments, sudden price increases may occur. Earth Elements agrees to use its best efforts to obtain the lowest possible prices from available suppliers, but should there be an increase in prices of these specified materials that are purchased after execution of this agreement for 19457 - Aspen Group - Sommet Blanc - Tower C - Unit C22 - Type R (1-Bed EHU), Aspen Group agree to pay the additional charge. Any claim by Earth Elements for payment of such an additional charge shall require written notice delivered to you stating the additional charge, the material or materials in question, and the source of supply, supported by invoices or bills of sale.

ESTIMATE IS VALID FOR 30 DAYS.

Should you have any discrepancies or changes please contact your sales associate. Once you have confirmed the estimate as approved, a sales order will be emailed requesting your signature for approval, and required deposit terms. Orders cannot be placed until approval signature and deposit have been received.